
Séquence de Nombres Linéaires (B)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 143 218 368 443 518 593 668 743 818Différence commune:2. 426 501 651 726Différence commune:3. 483 633 683 733 783 933Différence commune:4. 217 237 267 277 287 297 307Différence commune:5. 239 339 439 539 639 739 839 939Différence commune:6. 585 590 600 605 610 625Différence commune:7. 141 241 341 441 541 741 941Différence commune:8. 501 511 531Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (B) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 143 218 293 368 443 518 593 668 743 818Différence commune: 752. 126 201 276 351 426 501 576 651 726 801Différence commune: 753. 483 533 583 633 683 733 783 833 883 933Différence commune: 504. 217 227 237 247 257 267 277 287 297 307Différence commune: 105. 39 139 239 339 439 539 639 739 839 939Différence commune: 1006. 580 585 590 595 600 605 610 615 620 625Différence commune: 57. 41 141 241 341 441 541 641 741 841 941Différence commune: 1008. 481 491 501 511 521 531 541 551 561 571Différence commune: 10Mathslibres.com


